Spearman correlation - admission

During the admission procedure, the evaluation was performed by commissions and by a specia
Based on the ranking of the ten students, decide whether both assessments are dependent.
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HO....correlation between the two grading =0
H1....correlation between the two grading <>0
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Testl Test2
80 65
50 60
36 35
58 39
72 48
60 44
56 48
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You are given test results (points) from two subjects of 8 randomly selecte
Determine the correlation of a linear dependence of these results by the S
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d students.

pearman and Pearson coefficients.
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Data displays the association between the 1Q of 10 adolescent in a sample with the number of hours they lister
Determine the strength of the correlation between 1Q and rock music using both the Pearson’s correlation coef
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1to rock music per month.
ficient and Spearman’s rank correlation. Compare the results.
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Example: Ice Cream Sales

The local ice cream shop keeps track of how much ice cream they sell versus the temperature of that day for-
Formulate a null hypothesis and verify it by Pearsons and Spearman coefficients

Temperature Ice Cream
(°Q) Sales ($)
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crit(0,05)= 0.587
The calculated value is
The null hypothesis is |

r= 0.957507
d.of= 10
alpha= 0.05
critical= 0.576

The calculated value is above the
Therefore, the null hypothesis is re



the last 12 days:

HO= There is no correlation between the amount of icecream sold and the temperature outside.
HO= There is a correlation.
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